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INSTRUCTIONS FOR THE CANDIDATES
Write your Hall Ticket Number in the space provided on the
top of this page.
This paper consists of seventy five multiple-choice type of
questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open_the booklet and corap i ine i
helow :
(i} To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.
Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not in
serial order or any other discrepancy should be
got replaced immediately by a correct bookiet
from the invigilator within the period of § minutes,
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.
Each item has four alternative responses marked (&), (B),
{C) and (D). You have to darken the circle as indicated
below on the correct response against each item.
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where (C} is the correct response.

Your responses (o the items are to be indicated in the OMR
Answer Sheet given to you. If you mark at any place
other than in the cicle in the OMR Answer Sheet, it will
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the
OMR Answer Sheet, except for the space allotted for the
relevant entries, which may disclose your identity, you will
render yourself liable to disqualification.

The candidate must handover the OMR Answer Sheet
to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. The candidate is allowed to take away
the carbon copy of OMR Sheet and used Question Paper
Bocklet at the end of the examination.
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0. Use only Blue/Black Ball point pen.
1. Use of any calculator or log table ete., is prohibited.
2. There is no negative marks for incorrect answers.
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RSO A

MANAGEMENT
Paper - II1

Assigning workers additional same level
activities is termed as :

(A) Job enrichment
(B) Job enlargemeﬂt
(C) Job sharing

(D) Job involvement

4.

Match the following :
List -1 List - II

(a) Autocratic (i) The leader takes
into consideration
the individual
needs, talents and
desires, and works
toward fitting the
individual into an
appropriate
position rather
than forcing the
person to fit into
the position.

(b) Laissez faire(ii) The leader
Which of the following theories state stimulates
that "employees make comparison of the employees
their efforts and rewards with those of with novel,
others in similar work situation" ? theories and
opporfunities.

(A) Vroom's Expectancy Theory
(B) Adam's Equity Theory
(C) Alderfer's ERG ‘Theory

(D) Hertzberg's Two-factor Theory

(¢} Individua-
lized

(iit) The leader always
makes the final
decisions.
Employees are
closely supervised.

(d) Intellectual (iv) The leader tries to

motivate people
from within.

(e} Participative (v) The leader gives

maximum freedom

to subordinates.

The leader tries to

Find the odd one out : maintain a

congenial

(A) Scientific management approach :5’;‘:1:1’:‘31'? :nd
: decisions.
(B) Human relations approach Codes : ecisions
(@ () (© (@ ()
(C) Structural approach A @ G @ 3Gv &
B) () @ @ v G

(D) Systems approach

Paper-II1
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Assertion (A) :

Management by Exception is not a
control technique

Reasoning (R) :

The principles of Management by
Exception were first propounded by
F.W. Taylor

(A) Both (A) and (R ) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (A) is false but (R) 1s true

Which of the following statements are
correct :

(a) Authority flows downward but
responsibility flows upward

(b) Authority should be equal to
responsibility

(¢ Both authority and responsibility
are divisible

(d) If delegation is the end,then
decentralization should be the
means '

Codes :

(A) (a)and (b)

(B) (c)and (d)

(C) (a), (b) and ()
(D) (), (c) and (d)

Giving general information regarding
organisation to the newly appointed
personnel is called :

(A) Training

(B} Development
(C) Induction

(D) Promotion

Paper-III

10.

UG R

In Garbage Can model of decision
making :

(A) Problems are available

(B) Solutions are already available
before the problem

(C) Problems and solutions are
available

(D) None of the above

The term BARS stands for :

(A) Behavioural Abnormality Rating
Scales

(B) Behavioural
Response Scales

Abnormality

(C) Behaviorally Anchored Response
Scale

(D) Behaviorally Anchored Rating
Scale

Arrange the following experiments
conducted by Elton Mayo in the
chronological order :

() Bank wiring Experiment
(b) Textile Mill Experiment
(¢) Ilumination Experiment

(d) Mass Interviewing Pregramme

Codes :

A) ), (a), (c), (d)
B) (b)), (), ()
(€) (a), B, (@), (d)
D ), ©, (@, @
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Questions no.11 to 14 are based on the
following information

A high-tech product goes through several
phases during its life cycle during which it
appeals to different audiences: initially it is
adopted by the 'visionaries' and technical
aficionados who accept the high risk involved
in being first with revolutionary innovations;
changes in the life styles through offering
truly unique products which are compatible,
if it survives that long, it is purchased by the
risk-averse main market who always wait
until a product is proven and widely accepted
before they will use it or deploy it in their
companies. A successful launch does not
necessarily lead to a smooth take. It can be
noted that only ten percentage of such
technology products are in the new product
stage,up by the rest of the market. The follow-
on stages must be planned as carefully as the
launch stage if overall success and profits are
to be achieved. Due to their technological
nature, high-tech products have a
particularly difficult time delivering these
returns. Some products take so long from the
time of their initial launch to their transition
to the mainstream market, that they seem to
disappear altogether. The launch promotions
are quickly accepted by the innovators in the
market. The launch stage for a high-tech
product can appear at the time to be a make-
or-break point in its product life cycle; but of
equal or more significance is the moment
when it attempts to cross the chasm between
revolutionary innovation and technology
innovation. Dramatic transitions such as this
mean an attack on a completely different
audience, and may even require a complete
reversal of marketing tactics.

Paper-III

11,

12.

13.

14,

15.

If a new product that requires the
changes in the lifestyle of the customer,
satisfies a need that has not been
satisfied before is called :

.(A) Replacement product

(B). Truly unique product
(C) Imitative product
(D) Innovative product

What is the percentage of the new
products, arising out of technological
breakthroughs ?

(A) 20 (B) 11

(Cy 10 D) 8

Which one is the characteristic feature
of innovativeness ?

(A) Risk reduction

(B) Uncertainty

(C) Compatibility

(D) Tangibility

High-tech products are expected to be
quickly accepted by :

(A) A: Innovators

(B) B: Early adopters

(C) C: Late adopters

(D) D: Laggards

Assertion (A) :

BCG matrix was developed by Boston

Consulting Group

Reasoning (R):

BCG matrix consists of Stars, Cash

Cows, Dogs and Question Marks.

(A) Assertion (A) and Reasoning (R)
both are true

(B) Assertion (A) is true but
Reasoning (R) is not true

(C) Assertion (A) is not true but
Reasoning (R) is true

(D) Assertion (A) and Reasoning (R)
are true and Reasoning (R) is the
Reasoning of Assertion (A)

C-11-17



16. Anything that can be offered to a market
for attention, acquisition, use, or
consumption that might satisfy a want
or need is called as :
(A) Idea
(C) Service

(B) Demand
(D) Product

17. The psychological factors influencing
consumer behavior are :

(A) motivation, perception, learning,
beliefs and attitudes

(B) culture, subculture, social class

{C) reference groups, family, roles and
status

(D) all of the above

18. The transformations and augmentations
that a particular product might undergo
in the future is called :

(A) Generic products
(B) Potential product
(C) Augmented product
(D) Core benefit

19. When the company introduces
additional brands in the same product
category is called :

(A) Co- brands

(B) New brands

(C) Multi brands
(D) Umbrella brands

20. Punjab National Bank combining with
HSBC for the issue of international
credit cards, is an example for which
type of branding ?

(A) Multi sponsor co-branding
(B) Joint venture co-branding
(C) Ingredient co-branding
(D) Cluster co-branding

Paper-III
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Questions no.21 to 24 are based on the
following passage

Technology in the retailing industry has
provided a new dimension. The introduction
of point of sale equipment, bar codes and huge
storage capacity for billing and payment
database has facilitated the management of
large set-ups with ease. Operations are
recorded in a structured and systematic
manner, providing detailed analysis of the
sales and volume of transactions. Electronic
transactions have increased the volume of
sales in the country. Self-check outs are one
such facility. Flexibility in the mode of
payment and cashless transactions have
helped in driving sales. Communication
assists in maintaining a competitive
advantage in retaining and attracting
customers. Electronic Product codes are the
one which facilitates customers in retailing.
The introduction of new technology could be
intricative for retailers, but the convenience
and cost effectiveness create the need for new
advancements. Of late POS media have made
their presence in the retail market where by
computer installed trolleys, RFID etc., are
new possibilities emerging. Large stores need
to monitor inventories and expenses of
establishments. With automated machines
and high-end computers making the task
simpler, the focus of retailers stays on
retaining customers with new strategies.
Security systems also help safer shopping, for
retailers as well as customers, providing
immense mental relief. Such technological
advancements are only now coming into India
and the need for it has been acknowledged.
The point of sale (POS) applications provides
for quicker consumer check-out and multiple
payment options like credit cards.

C-11-17
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21.

22,

23.

24.

25.

Product bar codes can be of effective use
in providing for customers.

(A) Billing

(B) Self-check-out
(C) Self- service
(D) Product layout

EPC in product in retailing is :
(A) Electronic Product Classification

(B) Electronic Product Code

(C) Electronic Process Coding
(D) Electronic Preparatory Code

Navigating computers installed in
trolleys are examples for :

(A) Home media

(B) Point of sale media
(C) Electronic labels
(D)

Biometrics

Thefts in retail could be controlled
easily by :

(A) RFID

(B) Product bar codes
(C) Security systems
(D) All of the above

The pricing policy when the price is kept
high initially is known as :

(A) Skimming pricing
(B) Pricing above par
(C) Market plus pricing
(D) Penetrating pricing

Paper-III

26. Assertion (A):

27.

Selling is important not merely for
increasing the profits of businessmen,
but also for making goods and services
available to the consumers in society.
Reason (R) :

It is the process whereby goods and
services finally flow to the consumers
who need them and the firm performs
its functions of distributing its products
among consumers.

(A) Assertion (A) and Reason (R) both
are true

(B) Assertion (A) is true but Reason
(R) is not true

(C) Assertion (A) is not true but
Reason (R) is true

(D) Assertion (A) and Reason (R) are
true and Reason (R) is the reason
of Assertion (A)

Which of the following statements about
product life cycle is/are true ?

(a) Products have limited life.

(b) Product sales pass through distinct
stages, each posing different
challenges, opportunities and
problem to seller

{c) Profits rise and fall at different
stages of product life cycles

{d} Products different
marketing, financial,
manufacturing, purchasing and
human resource strategies in each
stage of their life cycle.

Codes :

(A) Only (a) is true

(B) Only (b) and (c) are true
(C) (a), (c) and (d) are true
(D) Al are true

require

. C-11-17




28. The financial results of marketing
endeavours should be analysed in terms
of :

(A) Sales volume
(B Market share
(C) Marketing costs
(D) All of the above

29. The study devised to study and measure
accurately the time required for
performing a particular industrial
operation 18 :

(A)' Time study
(B) Motion study
(C) Fatigue study
(D} None

30. The objective of wealth maximization

takes into account :

(A) Amount of returns expected

(B) Timing of anticipated returns

(C) Risk associated with uncertainty
of returns

(D) All of the above

31. A portfolio having two risky securities
can be turned risk less if :

(A) The securities are completely
positively correlated

(B) If the correlation ranges between
zero and one

(C) The securities are completely
negatively correlated

(D) None of the above.

Paper-II1

32.

33.

34.

35.

ORAE AL L

Efficient portfolios can be defined as
those portfolios which for a given level
of risk provides :

(A) Maximum return
(B) Average return
(C) Minimum return

(D) None of the above

If the coupon rate is constant, the value
of bond when close to maturity will be :

(A) Issued value

(B) Par value

(C) Redemption value
(D) All of the above

Which of the following statements are
true about Ratio Analysis ?

(a) Ratio analysis is useful in

financial analysis.

(b) Ratio analysis is helpful in
communication and coordination

{¢) Ratio Analysis is not helpful in
identifying weak spots of the
business.

(d) Ratio Analysis 1s helpful in
financial planning and forecasting.

Codes :

(A} (a), (b), and (d)
(_B) (a), {¢), and (d)
(C) (a), (b), and (¢)
(D) (a), (b), (c) and (d)

Given Sales is 1, 20,000 and Gross Profit
is 30,000, the gross profit ratio is :

(A 24% (B) 25%
(C) 40% D) 44%
C-11-17
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36. Match the following :
List -1 List - II

(a) Media Mix (i) Expose the same
message to a
smaller group
more often

The decision to
have a certain
message seen /
heard by a large
number

(b) Target (i1)
Market

(¢) Reach (il A combination of
communication
and media
channels use that
is utilized to meet
marketing
objectives, such as
social media

platforms and

magazines.

(d) Frequency (iv) A specific group of
consumers that
has been identified
to aim it's
marketing and
advertising
campaligns

towards, as they
are the most likely
to purchase the
particular
product.

Codes :
(a) (b) (o) (&)

@ @ @) v G
B) () G@v) G) @
© @ @© @ Gv)
@ G vy @ W

Paper-111

317.

38.

39.

40.

41.

42,

Which of the following sources of funds
has an Implicit Cost of Capital ?

(A} Equity Share Capital

(B) Preference Share Capital
(C). Debentures

(D) Retained earnings

Financial Leverage
relationship between :

(A) EBIT and PBT
(B) EBIT and EPS
(C) Sales and PBT
(D) Sales and EPS

measures

Walter's Model suggests _for_ 100% DP

Ratio when :
A k,=r (B) k,<r
© k. >r (D) k,=0

Receivables Management deals with :
(A) Receipts of raw materials

(B) Debtors collection

(C) Creditors Management

(D) Inventory Management

If A = Annual Requirement, O = Order
Cost and C=Carrying Cost per unit per
annum, then EOQ :

(A) (2A0/C)2

(B) J2A0/C
(C) 2A+0C
(D) 2A0C

If a coixpon bond is selling at discount,
then which of the following is true ?

(A) Po < Par and YIM < coupon
(B) Po < Par and YTM > coupon
(C) Po > Par and YTM < coupon
(D) Po > Par and YTM > coupon

C-11-17




43.

44.

Which of the following statements about

product life cycle is/are true ?

() Products have limited life.

(b) Product sales pass through
- distinct stages, each posing

different challenges,

opportunities and problem to

seller

{¢) Profits rise and fall at different
stages of product life cycles

(d) Products require different
marketing, financial,

manufacturing, purchasing and
human resource strategies in each
stage of their life cycle.

Codes :

(A) Only (a) is true

(B) Only (b) and (c) are true

(C) (a), (¢) and (d) are true

(D) All are true

A depreciation of a nation's currency
usually causes internal or domestic

prices to :
(A) Rise (B) Fall
(C) Constant (D) None

45. Which one of the following is not G-7
member ?
(A) India (B) Canada
(Cy Italy (D) France

46. Hedging refers to :
(A) Foreign exchange speculation
(B) Foreign exchange arbitrage
(C) Covering of foreign exchange risk
(D) None

47. International Development Association
administered by the :
(A) EURO Bank
(B) World Bank
{C) United States Organisation
(D) RBI

Paper-I11
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48.

49,

50.

61.

52.

I A

The UNCTAD s
organisation of the :
(A) UNO

(C) GATT

a permanent

(B) RBI
(D) IMF

The spot rate of exchange is quoted for
the immediate delivery of :

{A) Foreign Treasury

(B) TForeign Exchange

(C) Foreign Rate

(D) Foreign transaction

Which one is not part of Ansoff's growth
Matrix ?

(A) Focussed development

(B Market development

(C) Product development

(D) Diversification

Market risk is also known as :

(A) Systematic risk or diversifiable
risk

(B) Unsystematic risk or diversifiable
risk

(C) Systematic risk or Non-
diversifiable risk

(D) Unsystematic risk or non-

diversifiable rigk

Statement (I) :

Free trade leads to specialization and
thereby increased output.

Statement (II) :

import restrictions are both long term
and short term measure of balance of
payment adjustments.

(A) Statement (I) is true but statement
(II) is false.

(B) Statement (II) is true but
statement (I) is false.

(C) Both statements (I) and (II) are
true.

(D) Both statements (I) and (II) are
false.
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53.

54.

Which one is an international
creditrating agency ?

(a) CRISIL

by BCG

(c) Standard and poor
{(d) Moody's

Codes :

(A) only (a) 18 correct
(B) only (b) is correct
(C) (a), (b) and (d) are correct
(D) (a), (c) and (d) are correct

Consider the below mentioned
statements :

(a) The objective of cash management
18 best achieved by speeding up
the working capital cycle,
particularly the collection process
and investing surplus cash in short
term assets in most profitable
avenues.

(b) The necessity to hold cash will
arise if there is a perfect co-
ordination between the inflows
and the outflows.

(¢) The amount of precautionary
balance also depends on the firm's
ability to raise additional money

- at a short notice.

(d) The firm may hold cash to benefit
from a falling price scenario or
getting a quantity discount when
paid in cash or delay purchases of
raw materials in anticipation of
decline in prices.

State True or False :

(A) Statements (a), (b) and (c) are true
(B) Statements (a), (b) and (d) are true
(C) Statements (b), (c) and (d) are true
(D) Statements (a), (c) and (d) are true

Paper-III

55. Financial risk arises from :

(A) R & D and operations stages of
value chain

(B) GNP growth rate and competitive
environment

(C) Volatility of interest rates,
currency rates, commodities
prices and stock prices

(D) Changes in laws and regulations

56. is defined as the customer's
evaluation of the differences between
all the benefits and all the costs of a
marketing offer relative to those of
competing offers.

(A) Customer equity

(B) Customer satisfaction

(C) Customer evangelism

(D) Customer-perceived value

57. Match List - I with List - II and select
the correct answer using the codes given
below the lists

List -1 List - II
(a) Managerial Grid (i) H Koontz
(b) 3-D Approach (ii) FE
Fiedler

(¢) Contingency Model (iii) R.R Blake
(d) Systems Approach (iv) R Likrt

vy W.I
Reddin

Codes :

(a) (b) () (d)
@A @ G (@ (i)
® Gi) v Qv @
©€) (v @ @@ Q)
(D) Gi) Gv) Gy @)

11 C-11-17




58.

"Organisational learning" and

"Learning Organisation" are :
(A)
(B)
(C)
D)

Same
Different
Opposite to each other

Complementary to each other

59. Under Gordon's perpetual growth
model dividend growth rate "g" is :

{a) Constant

(b) Increasing

(¢) Decreasing

(d) Zero

Codes :

(A) (a) is true and (b) is false

(B) Only (a) is true '

(C) (c) and (d) are false

(D). All are false

60. State whether the following statements
are True or False :

(a) Inferential analysis refers to the
transformation of raw data into a
form that will facilitate easy
understanding and interpretation.

(b) Under descriptive analysis,
inferences are drawn on
population parameter based on
sample results.

Codes :

(A) (a) True, (b) False

(B) (a) False, (b) True

(C) (a) True, (b) True

(D) (a) Faise, (b) False

Paper-III
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61. Match the following :

62,

(a)

b

(c)

List -1 List - 11

NPV Method (1) Rate at which

NPV is Zero

Average Rate (ii) Cash Inflow

of Return after Interest
and Tax
Internal Rate  (ii1) Discounted
of Return Cash Flow
(d) Payback Period (iv) Calculates
Cutoff Rate
Codes :
(@ ((b) () (@)
A) @ Gv) @) Gii)
(BY Qi) (i) @) (@Gv)
© Gv)y @) @) i
D) Qi) @ 3 Gv)

Bonds that does not pay any interest
rate are considered as :

(A)

(B)

(C)

)

interest free bond
zero coupon bond
priceless coupon bond

useless price bonds

C-11-17
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63.

64.

Consider the below mentioned
statements :
(a) The objective of cash management

is best achieved by speeding up
the working capital cycle,
particularly the collection process
and investing surplus cash in short
term assets in most profitable
avenues.

The necessity to hold cash will
arigse if there is a perfect co-
ordination between the inflows
and the outflows.

The amount of precautionary
balance also depends on the firm's
ability to raise additional money
at a short, notice.

The firm may hold cash to benefit
from a falling price scenario or
getting a quantity discount when
paid in cash or delay purchases of
raw materials in anticipation of
decline in prices.

State True or False :

(A) Statements (a), (b) and (c) are true
(B) Statements (a), (b) and (d) are true
(C) Statements (b), (c) and (d) are true
(D) Statements (a), (c) and (d) are true

(b)

©

(d)

Assertion (A) :

Asset Liability Management refers to
the process by which a bank manages
its balance sheet in order to allow for
alternative interest rate and Liquidity
scenarios.

Reason (R) :

Securitization is a structural finance
process which involves pooling and
repacking of cash flow producing
financial assets into securities that are
then sold to investors.

(A) (A) is True and (R) is False

(B} (A) is True and (R) is True

(C) (A) is False and (R) is False

(D) (A) is False and (R) is True

Paper-II1
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65.

66.

in

The concept of communities of practice
(CoP) has grown in the past decade and
can evolve formally or informally using
communication and information
technology. What is an appropriate
description of a CoP ?

(A) Groups of people who interact
regularly on issues important to
them and share best practice for
their mutual benefit

(B) A workplace based group willing
to communicate with others using
the internet and intranet

(C) An individual who is willing to

disseminate relevant information

to interested parties

(D} A gathering of experts in a

particular field who allow their

work to be disseminated over the
internet

A supervisor has just rated an
outstanding performer and is now
evaluating an individual who is also a
good performer but there seems to be a
contrasting difference between the
abilities and output of the two
individuals. This significant difference
i performance or employee
competencies lead the supervisor to
rate the second individual as an average
performer. This is an example of :

(A) Contrast Effect

(B) Recency Bias

(C) Central Tendency Error
(D) Like "him"syndrome
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67.

68.

69.

All of the following are major decisions
a company faces in international
marketing EXCEPT ?

(A) deciding which markets to enter

(B) deciding how to enter the market

(C) deciding on the global marketing
program

(D) looking at the global marketing
environment

Consider the below mentioned

statements with respect to

segmentation.

(a) Psychographic segmentation
considers factors like age, culture,
income, education and gender.

() The process of selecting or

choosing the potential market
segment is known as targeting.
State True or False :
(A) (a) False, (b) True
(B) (a) True, (b) True
(C) (a) True, (b) False
(D) (a) False, (b)False

(@ In which organisation structure,
international operations are
organised by dividing the entire
globe into different geographic
regions.

Which is the most complex
organisational structure and is
suitable where several functional
divisions from across the globe
performing related duties are
grouped together 1into an
international product division ?

()

@A)
B)
©)
™

Regional structure © and
International matrix structure
International matrix structure and
Regional structure

Functional structure and Regional
structure '

Regional structure and Functional
structure.
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Identify which of the statement are

related to intrinsic value of a share.

(a) It is calculated by dividing the net
worth by the number of
outstanding shares.

() It is associated with the earnings
and profitability of the company.

() It is the economic value of a
company considering its
characteristics, nature of business,
and investment environment.

(d) It may include intangible assets at
acquisition cost minus amortised
value.

Codes :

(A) Options (a) and (d)

(B) Options (b) and (c)

(C) Options (a) and (c)

(D) Options (b) and (d)

Match the following sets :

List -1 List - II
(a) Redeemable (i) The discount
bonds rate equaling the
present values of
cash flow to the
current market
price
(b) Irredeemable(ii) There is no
bonds intermediate
payment
between the date
of issue and the
maturity date.
(c) Zero coupon (iii) The maturity
bonds value does not
exist.
(d) Yield to (iv) The bond with
maturity annual interest
payments.
Codes :
@ (b (@ ()

Q) Gv) @) @ O

By @) G) @ @)

©) Gv) @ G) Q@

O @) @ 3@ @
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72. This refers to the periodic flows of equal | 75. Match List I with List II and select the

amount : correct answer using the codes given
! below the lists
(A) Present value List - T List - II
(B) Perpetuity (a) P/V ratio (i) glgéket Price /
(C)  Annuity (b) P/I ratio (i) PV of Cash
L ' Inflows / PV of
(D) Sinking fund Cash Outflows
(c) P/E Ratio  (iii) Contribution /
Sales
73. Gordon's dividend policy is based on the (d) Current (iv) Current Assets/
following assumptions : - Ratio Current
Liabilities
(a) The firm will be an all equity firm
with investment proposals being Codes :
financed soley by the retained (@) () (© (@
earnings @ O Gv G (i)

(B) (i) @ (v) (@)
€ Gi) G) @) (@v)
D) Gi) @) 3G (@)

(b) Return on investment (r) and cost
of equity capital remain constant

(¢) The ratio retencion remains

constant
-00o0 -
Codes :
(A) (a) only
(B) (b) only

(C) (b) and (c) only
(D) (a), (b), and (c)

74. Companies adopt this strategy when
each country's market needs to be
treated as self-contained. What strategy
is 1t ?

(A) Product-line
(B) National

(C) Global Line
(D) Multinational
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